ﬁiﬁ‘ﬁﬂtﬂms (1-5) ¢ In the ft}f lowing sentences, fherg are two
L% blanks for which options have been given. Choose the most
-ﬂﬁﬁ?‘ﬂpﬁm‘e option. :
+.24, The proposal has been ......... and will be sent to the
i Cabinet for final .. ... ST |
. (1) designed, process
. (3) amend, sanction
o {8) mentioned, figure
- -1, The fake diesel factory was being ......... under the .........
~0f a dairy.
... (1) operated, operation
© o (3) functioned, alias
.2 (5) activated, contro]
g'a;;.;;_.-.;:;:-;:;;5-_;:3 The moment the staff opened the office,- unidentified
. - weapons entered and asked the cashier to
hanc% over the keys to the vault.

(1} miscreants, brandishing (2) object, carrying
.. (3} persons, had (4) people, associating

“45) man, lifting - '
;g, The singer, who has been very ...... about his faith in the

(2) drafted, approval
(4) said, objection

(2) captured, array
(4) run, garb

U party, also ... at the grand event.
{1) vocal, performed (2} stron g, san g

:"*_.f:?_}fif-?.i-;-_.f:ﬂ(:?}) open, dance -
- {5) creative; present - |
ifﬁ'ﬁﬁf#ver the years, the town has ......... popularity as the best
i for paragliding and pilots from across the world visit it.
;’ﬁf}f(i) acquired, spots (2) claim, one
(3) gained, destination (4) sought, wonder
+(3) sent, place
-:55'?Ilimﬁmm (6-10) : Read these sentences io find out whe.fher
iere is any grammatical ervor in them. The error, if any,
.;.;-fwdl be in one part of the sentence. Mark the parl with the
-error as your answer. If there is no ervor, mark ‘No error’
ﬂ&’ your answer. (Ignﬂre the exrors of punctuation, if any.)

(4) loud, came

{;i_a;fgﬂst State because it offer ample j{}b ﬂppﬁrtumtles
_-15{51) Many citizens are gravitaling

2) towards the nation’s |

ﬁf:f(?’ ) ﬂﬁmnd -largest State because it foﬂl‘ "

(&) ﬂmplﬁ job opportunities

(5) Ns} error

Many citizens are gravitating towards the nation’s Sﬂﬂﬂ?id-_. -

10,

and answer . the~ questions given below it

Most African nations were largely shielded from the 2008
financial crisis by China’s insatiable demand for natural

reSOUICes. .
(1) Most African nations were largely
(2) shielded from the 2008 financial crisis
(3) by China’s insatiable demand

(4) for natural resources

(5} No error

Skeptics worries that the devaluation of the country’s
currency is a desperate move to bail out struggling
exporters.

(1) Skeptics worries that the devaluation

- (2) of the country’s currency is
- {3) a desperate move {0
(4) bail out struggling exporters

{5) No error

Consumers are constantly been enmmagﬂd to take
advantage of the lowered imnterest rates.

(1) Consumers are constantly been

{2} encouraged to take '

~ {3) advantage of the

(4) lowered interest rates
(5) No error '

Emerging economies are dominating the news but fﬂr all the
WIONE reasons.

(1) Emerging economies are (2) dﬂmmatmg the news.

(3) but for (4) all the Wrong reasons
(5) No error " - -
Directions (11-28) : Read the following passage mreﬁu’fy

Certain
words/phrases are given in bold to help you locate them

while answering some of the questions. -

Gver the past few days alone, the China’s Central bank has
pumped extra cash into the financial system and cut interest
rates. The aim is to free more cash for banks to lend and

- provide a boost for banks seeking to improve the return on

their assets. The official data though, suggested that bad
loans make up only 1.4% of their balance sheets. How to
explain the discrepancy ? One posszbla answer 1s that bad
loans are a lagging indicator i.e., it is only after the economy

has struggled for a while that borrowers began to suffer.
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Lmkcd at this way, Chmd 1S trymg to ﬂﬂtlﬂlpdtc pmb]emax

._._,._.__,-keepmg its banks in gmd health by sustaining ecmnﬂmtt
growth of nearly 7% year-on-year.

Another more worrying possibility s thdt bad loans. are |
WOISe than c}fﬁma§ data nuimat:: Th1s dm,a Imt lmjk to be

.......

-----

value and quahty bm'mwuw But thr,.,rt 1S ma}ummgﬁ:i-'-25-5-5:5;1"-""
evidence that when it comes to mmi]er banks, especially

those yet to list on the stock market, bad loans pihing up.
That is important because unlisted lenders account for just

over a third of the Chinese banking aecmr makmg them as |-

big as Japan’s entire banking industry.

__Althmugh non-performing loans have edged up slowly, the
“increase in special-mention loans (a category that includes

 been much bigger. Special mention loans are about 2% at
most of China’s big listed banks, suggesting that such loans

“must be much higher at their smaller, unlisted peers, Many
of these loans are simple bad debts which banks have not yet

admitted to. Another troubling fact is that fifteen years ago,

the government created asset management companies
- (often referred to as bad banks) to take on the
non-performing loans of the lenders. After the inifal
transfer these compantes had little to. pay. But, last year,
Cinda, the biggest of the bad banks, bought nearly 150
billion Yuan (§ 24 billion) of distressed assets last year,
two-thirds more than in 2013. |
These assets would have raised the banks bad-loans ratio by
a few tenths of a percentage point. Although such numbers
do not seem very alarming, experts who reviewed last year’s
results for 158 banks, of which only 20 are listed found that
‘shadow loans’, loans recorded as investments which may

be a disguise for bad loans have grown t@-*‘as':*much as'5.7 |
billion Yuan, or 5% 01" the mdush‘y B assets Thesa are :
sheets of i
all thia pmms%

heavily concentrated - © the balance
smaller-unlisted banks, and at the Very lea&;t

1o 2 nead for I‘ECletdllSdﬂDn of :;ma]l banks

e .:;';':'é.;;;p 44 sa g e
frt a (i) Deldyed

(3) {,ﬂmp llmentdry
(5) Charged -

e -.':-::

1mpmred Sa ol
(}J E}n]y B . e T

(5) B and s;

- those overdue but not yet.clab_&,iﬁed as 1mp.;11re_:5§.;;1;@§_1_1§);;h?__lﬁ;_;,_3-_,5::;;5;:;--

_________

15.

i

18.

{5y Such cumpantfi"'"

.Chmse the wqrd "'hmhf_ls ﬁppﬂﬁﬁe m meanmg to the word

wing is the ce .-
o iThe paﬂmtted tD hemmc ilH m on

aﬁcmci{ EKLhHHgE S
ﬂvummcnt* hmﬁd b

e k1

o ELW ay : Wlth assel mana HCImMend

decline of its ba‘rik's':
(5] There 15 tmuble: brew
bankb : ' o

Chmse thc we::-rd whm
' to the word POINTS’ gwan in bold as used in the passage

11‘1g in China’s small unliste,

h 13 mﬂst nearly the same In meaning

(2) Moments

k
s S (4) Indicates

(3) Arguments SR
( 5) P‘lugg _?j}_';_j~._'=;:_-f'-f3:'f§'1:5f;'_-_Ef;'.}j.s._'s.;:-i:f'f:t'_ Bk
thh of the follmwmg is truu in the Gaﬂtext of the passage

“(1) China has not. ;mplemamed any resources to heip It

_banking scctﬂl‘ n rcc:f:mt times.

(2) Approximately 32% @f (Lhma i bankmg sector s

unlisted.

~(3) China’s stock market has plummeted in recent times.
(4) Japan’s banl{mb mdustry is experiencing a boom unlike

that of Chma e
(5) None Gf the gwen mptlf}ns 18 true n the context of the

pHQSHgE

. What dc}es the example crf Cmda cmnvey

(1) Many c:af ‘the loans given by ¢ Chma s banks are in frouble,

(2) Many su'::h Iargc Chmese asset management companies
are falhng iy

(3) China’s ecﬂn{z}my 13 Dverly depﬂndent on large banka

{4 Chma isthe ldeai deﬁtmatlﬂn for small banks *tl::r flourish.

_a“”'e becmmf: ﬂbscﬂetﬁ




pirections  (21-25) Rearrange the given six
- sentences/group of sentences A, B, C. D. E and Fin a proper

. sequence S0 as 1o Jorm a meaningful paragraph and then
| answer the gwen questions.

.. A, Global investors are quaking over the prospect of a

economy,

2 B, A possible answer could be that the country’s troubles
raise doubts about whether its policymakers have the

o tools to keep their economy growing at a healthy place

~ something that has been a constant reassurance for more
=" than two decades. _
. C And they are fast losing confidence that the country’s
- policymakers, seemingly so sure-footed in the past,
know how to solve the problem.

. D. However, such a domino effect is significant but hardly
. catastrophic so why the hysteria 7

E. ?hma 18 exporting something new to the world gconomy
- fear

;j;;_f;::;';_i;'. - F. Apart from the shrinking confidence, the biggest fear i is
. _that a collapsing Chinese economy would derail others
- around the world — from emerging markets in Chile and
G Inﬁﬂnﬁsxa to industrial powers such as the United States.
2L thh of the following should be the SECOND sentence
- after rearrangement 7
(DA

(2)B

. OIE (4D

B)E '

‘Which of the following should be the FIRST sentence after

" rearrangement ?

(e

. (3)B

OE 4

Which of the following should be the SIXTH (LAS’E)

- f’_’_séntenca after rearrangement 7

(DE @)D

Ba - (4-)

G F

4. Which of the following should be the M}T TH santﬂnce after
i’fﬁmangamem ? = -

(2} C
(4) F

) £ @)D

mh af the fmilﬁwmg should be the F@URW sentence
_';____'ﬁer rearrangement 7 :
A -
(3) C:
(5) E}
?Eﬁlremﬁﬁs (26-30) : In the following pasmge there are
blinks, each of which has been numbered. Against each,
ve-words are suggested, one of which fits the blank
53'53'ﬂpprﬂprzarefy Find out the appropriate word i in each case.

Pﬁmary school enrolment in India has been a success story.

(2)B
(4) F

ﬁlii'nlrnent even in remote areas. With enrolment iaachmg at
dst 96% since 2009 and girls ...27... UP 56% of new

:;23 ~of access to schooling. havf: baen 029

devastating slump in the world’s second biggest |

Improvement n infrastructure has been tht‘: ..38... behind
achieving this and now in India 98% habitations have a
primary school within } km and 92% have an upper pnmar}
school within a 3 km walking distance.

26. (1) Mostly (2) Properly

{3) Totally (4) Optionally
(5) Largely

27. (1) coming (2) reaching
(3) counting (4) making
(5) touching

28. (1) 1ssue (2) opportunities.
(3) problems (4) efforts
(5) exertions

29. (1) accustomed (2) addressed
(3) met (4) forwarded

~ (5) dissolved

30. (1) main (2) effort

(3 force (4) compulsion

(5) awareness

Directions (31-38) : Refer to the table and answer the given
questions. | ' |
Data related to number of candidates appeared
-and gqualified in 2 competitive exam from
2 states during 5 years

Year State P State J
Mumber of Percentage of | Number of | Perceatage of
appeared appeared appeared appeared
candidates candidates who | candidates | candidates who
qualified | qualified
2006 | 450 60% . 30%
2007 600 43% | e 45%
Joos- 60% | | as0 . 60%
2009 | 480 0% | 550 - 50%
2010 380 ~ s WL 400 | - e

~.26.:. due to various programmes and drives to increase

Eﬂlﬁiﬂﬂtg bBtWEEH 2007 and 2013, it 18 EIEEI that many .

Note : Few values are rmssmg in the table (mdicatﬂd by —)

et "ttty

Eﬂﬂdld&tﬂ is expectﬂd to calculate. the missmg value, ifit -

is required to answer the given questmns n-n the basis of
given data and information. -

- 31. Out of the number of qualified candidates from . State Pin

72008, the respective ratio of male: and female candidates is

11 : 7. If the number of female quahﬁe-d candidates. from

“State P in 2008 is 126, what is the number nf appeared

- candidates (both male a.nd fe:m&}a) from 8 Stﬂte P in 2%8 ?

(1) 630 (2) 510
| 8 gzg J(@) 690

32. Number of appeared candldataa fmm State Q mﬂreased by
100% from 2006 to 2007. If the total number of qualified
candidates from State Q in 2006 and 2007 tngether is 408,

- what i§ the number nf appeared candldates frs:sm State Q in
-20067 |

(hse . @ 360
(3)340 - (4} 320
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33. What is the difference between number of qualified
candidates from State P in 2006 and that in 29{}‘7 9

(1) 12 (2) 22
(3)14 (4) 24
(5) 16

34. If the average number of qualified candidates from State Q |
in 2008, 2009 and 2010 is 210, what is the number of

qualified candidates from State Q in 2010 7

(1) 191 (2) 195
S

35. If the respective ratio between number of qualified

candidates from State P in 2009 and 2010 is 14 : 9, what 1s
the number of qualified candidates from State P in 2010 ?

(1) 252 (2) 207
(3) 216 (4) 234
(5) 198

Directions (36-40) : What should come in place of question
mark (7) in the following questions ?

36, V575+7x14 .98 = 450

(1) 15 (2)10 (3) 7
(4) 4 (5) 12

37. 30.01°=19.98° - 7=2181?
(1) 49 (2} 50 (3) 16
(4) 39 (5) 41

38. 82015+ 2379.85+ 140.01x4.99 =7
(1) 4400 (2) 3900 (3) 3000
(4) 4000 (5) 4300

39. 39.97%of 649.8+13.05=45.12-7 |
(1) 40 (2) 15 (3)25.
(4) 10 (5)30: .

40. (674.87+59.98)+35.02=7 s
(1) 29 (2)27 o -'{3}19_:
(4) 21 (5).11 -

given quemum

Number of g}&upie wha:s- travelled from E}Ehmﬁun tﬂ .
&Emnra by "i‘mm A ﬂmi B on & dﬁfferem ﬁﬂys

A
- 350 R
2 20—
o o b
E 299
g 1501
ﬁ !
E 100
50
Sat | Sun { Mon | Tue | Wed | Thur | |
-TrainA| 350 | 270 | 240 | 210 | 140 | 230 | |
Le-TrainB| 320 | 310 | 200 [ 170 [ 120 | 200

|

Pirections (41-45) : Refer E‘ﬂ t}'@e gmph and answer fhe

41.

o number of people who trav

42.

43.
44.

45.

- .- ':.'46._"

(1T 3.750/-

47.
. R1200/L
_carns an overall profit of 10%, at

.'-EE“ thﬁ TESt 'thhe ﬂfﬂngeg 0

.6 209
T

The ﬂumber ﬂf
= 20% more than the people Wi

years hence, the reg
o Abby 5 age WIH be 4
o 08e oo

(2)'32 years

?Eﬂ;ﬁlﬁ who travelled by Train B on Friday i
o travelled by the same train

‘What is the respective ratio between the

d
on Thursday. alled on Friday and those wh

travelled on Saturday by the same train ?

145 (2)3:4
85 - (4)3:5
(5)1:4

What is the difference between the total number of people
who travelled by Train B on Monday and Tuesday together
and the total number of peﬂp}a who travelled by Train A on

Saturday and Sunﬂay together ?

(1) 200 (2) 230
(3) 210 (4) 250
(5) 240

What is the average mzmber of people travelling by Train A
on Monday, Tuesday, Wednesday and Thursday ?

(1)220 (2) 190
(3)205 G (4) 195
(5) 210 g

The number of penpie who travaiied by Train A decreased by
what percent from Saturday to Tuesday ?

(1) 35% (2) 40%
(3) 30% (4) 42%
(5) 33% | |

The total number of people who travelled by both the given
trains together on Sunday is approximately what percent
more than the total number of people who travelled by both
the given trains together on Wednesday ?

(1) 128% (2)123%
(3) 142% (4) 118%
(5) 135%

< 6,100/~ was partly anvested n Schem& A at 10% pa

| cﬂmpmund interest (mmpﬂunded armuaily) for 2 years and
. -_’_Pﬂfﬂ}’ in Scheme B at 10% p.a. simple interest for 4 years.
- Both the schemes pay equal mterests How much was

IHVEStﬂd in Scheme A7

o _ (2}?450@/—
_:.(3)?4;0{}01'--_ - _ (4}?3.,250#.. |
crge
A’ bought a certain quantlty Df mrﬁnges at tﬂtal cost of

He sold 1/3rd of those oranges at 20% loss. If A
Wha‘t pemem profit did A

. . {2) 15% i :

Present age of Bﬂh 18 equal to Abby s age g ygarg ago. Four

pective ratio bemeen Bob’s age and
5 at that time. What is Bﬁb s present

B 40 years
(4) 20 years

. .-'(5) 28 years .



- Directions (49-53) : In these questions, two equations
_puymbered I and Il are given. You have to solve both the
-equaltions and mark the appropriate option.
~Give answer :

(Hifx>y

O x2y

B Ux<y

(4) If relationship between x and ycannot be determined
(5) ffx <y

6. 2" +19x+45=0 I

i 3x” 3x+12=9
L 16

;m

27 +11ly+12=0
e 2y —15y+28=0
| 2;,? ~17y+36=0
L 6 +19x+15=0 38+ 11y+10=0
3 L 2 -1+ 15=0 2y* ~11y+14 =0

ﬁ,_ started a business. After 4 months from the start of the
“business, B and C joined. The respective ratio between the
_ﬁ'-’inwstmﬂnts of A, Band C was 4 : 6 : 5. If A’s share in

-annual profit was ¥250/- more than C’s.share, what was the
“total annual profit earned ?

(1) % 3,740/-
(3) % 4,250/-
(5)33,450/-

/A person has to travel from point A to point B in certain

iy R
Ew{lfmgmm

(2) T3,910/-
(4} None of these

&ﬂd while travelling at a speed of 8 km/h he reaches 15 mm
aﬂy What is the distance from point A to B ? |
| (2) 9 km

(4) 18 km

8 men. can mmpleta a plEEE of work in 15 days and
;5 Wﬂmm can mmpiﬁie th@ same plecﬂ of work in 24 days

(2)9: 15
(4)2:6

:_ﬁié'rﬂsultaat respestwe ratio of milk and water in ﬁ'ie'
f_:{'jﬁfas 4. i what was the quantity of pure milk added in

(@) 8litre
@) 12litre

T0) 34 350!-
(4) 21, 200/~

[
WL U,

“time. Travelling at a speed of 5 knw/h he reaches 48 min late

Ii sﬁin 18 dwzded amang A, B ané Cin such a Way.
;_..;;a%ﬁtswﬁf- more than the 1/2 of the sum. B gets%“ 120/ = .

3!81]1 of the sum and C gets %200/- Wiwt is the. i |
, , o . and Apple but nnt ne:cessanly in the same order. ._
+oih o Retasa seminar in a month- w‘iuch has less tha;n 31 da}’s .

66.
- 7 (1) Cansiot be datennmed

39,

60.

(1) 19

61.

62,

63.

64.

65.

(4) 98

2 4 6

Directions (59-63) : What will come in place ﬂf @WSHGH
mark (?) in the given number series ? o

123 140 106 157 §&9 2
(1) 214 (2) 139
(4) 169 (5) 174
90 94 46 22 ! 4
(2) 15
(5) 16
3214 290 230 7
@110
(5) 142 .
113 1
(2) 424
(5) 566
15 7 236.25
(1) 64.5 (2) 84
(4) 36 (5) 46
The respective ratio of curved surface area ﬁnd total surface
arca of a cylinder 15 4 - 5, If the curved surface area of the

cylinder s 1232 cm?, what is the height 7 (incm)

(1) 14 cm | (2) 28 cm

(3) 7 cm - (4) 56 cm

(5) 24 cm

A bag contains 3 red balls, 5 yellow balls and 7 pink balls. If
one ball is drawn at random from the bag, what is the
pmbablhty tha.t it is either pink {}1‘ red 7

(1} - (2) 5

(3) 198

(3) 10

(4) &

320 320
(1) 114 (3) 50
3 4 9 o8
(1) 782

(4) 384

(3) 646

(3)52.5

3y
(. ) D =
(5) None ?crf: these :

I}lreﬁmns (66-67) Smdy a‘ke fﬂﬂﬂwmg mfﬂrmanﬂn fo

answer the given questions. -~ = wel
R ismarried to U. U is the mnthﬂr L. 11§ tha s1ster ﬂf]} L
has only one daughier D3 15 mamed tﬂ L K 35 the san s::-f J Ff

15; ﬂ]@ mﬂther {]f } & - .' S :.:_-- e ._ ;

67,
- (1) Cannot be dctennmed

- lncle
| B;rectwns (63*’?2)

{5)Son-

Howis D reiated foF ‘?

(2) laughter

(3 ) D&ughtﬂfwm-law """ (4) S@ﬂ_mﬁ Iaw

How is R related to K77 .o iyt e
(2) Father-m«law B -
(4) Grand Father

3) Grandmather . L

Smdy z‘ke fﬂﬂawmg Iﬂfﬂﬁﬂﬂﬂﬂﬁ fﬂ};ﬁ_:f:

 answer fke given questions. "

n; but nﬂt W

. Sevenpgople-P.Q R 81U and Vhave __3

;'as-_. Pap&ya;il_';}-':'_'_-e Mangﬂ L:ttchlf

f "Eii;ff.hly W"’ﬂ penple hﬂ?ﬂ a: semmar beiween R and S. The ﬂﬂe:' I
e wha llkes Banana has a semmaf mm:ledmtely beﬁ}r o T :.. 5:.. y"



68.

69,

one person has a seminar before the one who likes Papaya. |
Q has a seminar immediately after the one who likes

Papaya. Only three pﬂ'ﬂpdle have a seminar between Q and
the one who likes Mango. T likes neither mango nor Papaya.
P has a seminar immediately before T. V likes Apple. The
one who likes Grapes has a seminar in the month, which has
less than 31 days. The one who has a seminar in March does
not like Orange.

Which of the following represents the month in which S has
a seminar ? |

(1) January (2) Cannot be determined
(3) October (4) December
(5) June

Which of the following represents the people who have a
seminar in January and June respectively ?

“hy s @)U, S
G101 (4) V,R
B)UR

78,

12,

73.

74.

785.

How many people have a seminar between the months in

- which V and R have a seminar ?

{1} None
(3) Three

(2) Two
(4) One

~ (5) More than three
Tl

As per the given arrangement; R is related to Banana and P
1s related to Orange following a certain pattern, which of the
following 1s V related to following the same pattern ?

{1) Mango (2) Litchi

(3) Apple (4) Papava
(5) Grapes

Which of the following fruits does U like ?
(1} Orange (2) Papaya
(3} Mango (4) Banana
{(5) Grapes

Birections (73-75) : Study the Jollowing information to
answer the questions. ‘

Each of the six buildings P, Q, R, S, T and U houses
different number of offices. S has more offices than only T
and R. Q has more number of offices than P but less than U.
R does not house the least number of offices. The building

which houses the least number of offices has 5 offices. The |

building which has second highest number of offices has 23
offices. S has 11 less number of offices than Q. |

Which of the following buildings has the second feast

number of ﬂ_fﬁﬁes 7

(1) Q
4P

{2} U

@GR
(5)T -

divisible by 2 as well as 3, How many does P have 7

(1) 20 (2)24 (3) 16. |
(4) 18 (5ylz2 e
Which of the following is the number of offices in R ?
(1)25. R PR

(4) 14 (5) 11 =

Directions (76-80) : Study the Jollowing information to
answer the given guestions. - ° . . .

Ten people are sitting in wo pa.raﬂei I'ﬂwsmcnntamm§ ﬁve
people each, in such a way that there is equal distance between |

- adjacent persons. In row-1 J, K, L, M and N are seated (not

necessarily in the same order) and all of them are facing south,

76.

77

- 78.

~ one person sits be

- o WX, Y and Z are seated (not necessarily in 4,
In row-2 Y, W;_i Al of them are facing north. Therefore iy, y,,

ame order) an ' ~
;ﬁ; Sﬂzﬁ’iil?lg arrangement each member seated in a row £ o

4er member of the other TOW.
7 sits g V sits to the immediate right of K. Only

| s facin _ _
The persons fact tween K and M. J 1s not an mmmedjae
neighbour of K. Only two people sit between J and [,

ither K nor J faces Y. ;
i ' is facing N 7

Who amongst the following 1

MY | Q) Z
GV (4) X
(5) W.

Which of the following statements is true regarding M 7
(1) M faces one of the immediate net ghbours of X.

(2) K is one of the immediate n61ghbﬂurs of M.

(3) None of the given statements 18 true.

(4) L sits to the immediate right of M.
(5) Only one person sits between M and N.

Who amongst the following is facing X 7
0K oL

- G)M 47
(5) N |

79.

80.

(3) Immediate left

What is the pﬂéit_iﬂn of Z with respect to Y ? -
(1) Third to the right (2) Second to the right
~ (4) Immediate right

(5) Second to the left | |

Four of the given five are alike in'a certain way based on the
given arrangement and hence form a group. Which of them
does not belong to that group 7 '

(HM T
(3)N (4) W
Gy -

Directions (81-85) : In these questions, two/three
statements followed by two conclusions numbered I and I
have been given. You have to take the two/three given
Statements o be true even if they seem to be at variance Jrom

commonly known fgcfs and then -de&id&_-whfch of the given
- conclusions logically Jollows from the given statemenis

disregarding commonly known Jacts.
Give answer : |

(D) If only conclusion T is true

(2) If only conclusion I is true -
(3) If both conclusions 1 and I ﬂe-'mé. |

- (4) If either conclusion i or I is true

 (5) If neithe * conclusion T nor 11 is true

81

If the number of 6fﬁces in P is an even number which is - . Statements s -

- All races e

Statements: .

Some races are 'éi’;;.nfegtg; e
Conclusions; =+~

= POIIE Contests are 'sprir
I 2 .__H.E. AI R o p ntsg :
82.

7 contests are eprifis -, 0 o




ifgﬂi'ﬂﬂ strikes are hits.

No strike is a raid.

‘All attacks are raids.

Qgﬁmﬁmmm :

gj Some hits are definitely not raids.

[1. All hits being strikes is a possibility.
Staﬁﬂmm&a :

gome equations are formulae.

All equations are {erms.

All terms are symbols.

Conclusions :

1. All equations are symbols.

11. No symbol is a formula.

Sﬁﬁ&am&mﬁ :

Sﬁi‘i‘lﬂ strikes are hits.

No strike is a raid. :

: A1l attacks are raids.

iﬂwﬂﬂsﬁms .

.f'?i} No attack is a StI‘IE(E

1. All attacks being hits is a p{}SSlbﬂlty

Directions (86-90) : Study the following information to
‘pnswer the given questions.

“festival for women only’ is written as ‘pa, ge bo xu’
! pi‘{wi{iﬂ peace to women’ is written as ‘wr dl nj ge’
‘women like to celebrate’ is written as ‘ge ct fx wr’
“*celebrate peace in festival’ is written as ‘dl bo sv ct’
f'f:{f%lﬂ codes are two letter codes only)

56, What may be the possible code for ‘provide idea’ in the
;gwesa code language ?

.........

{1) fx by (2) xu bo (3) by nj
4) nj xu (5) wr fx
What is the code for ‘celebrate’ in the gwen Gﬂdﬁ language ?
i (2) wr (3)ct :
o=

o
fAt

{2} Eithar ‘for’ or ‘ﬂn}y’
{4) celebrate

l}pﬁa{:ﬁ |
3} Elthﬂr women’ or ‘to’

c@ t-:::a rmnd’ is. {;{}dﬁd as. ‘Zg Wr eﬂ" in *he given code
ige, then what is the code for ‘mind in festival’ ?
zgbodl  (2)dizgsv: {3) Do SV EE
;g":ﬁj WI‘ - B) svwr bﬁ-
iﬂé}ﬁﬁ {91&95}
een. different elements is shown in the statements. The
mients dre fﬁiif}wed Ery ‘conclusions. Study the
"ﬁﬁiﬁﬁﬂm based an, the gwen sz‘m‘emams ﬁm’ gele::f ﬁze
Pﬁffﬂﬁﬁm‘ﬁ ﬁﬁswer S e
Hye answer &

Conly mﬂc}_usmn H i tme
‘E@iii}w mnmiusmn L EE true

g

In. fﬁzase -qum‘mm, _ relﬁfzamﬁzap

9i.

92.

Conclusions : L. T =D

23.

p

95,

96,

97,

- Y8.

-(4) All ihe gwaﬂ ﬂpnﬂﬂs are i:me
(5 8is the daughter of L

99

(1) R sits second to the right of M"‘s wﬁ"a .
- (@Kis an 1mmadzate naighbﬁur Erf R "

" (3) If both conclusions I and II are true
(4) If either conclusion I or I 1s true
(5) If neither conclusion I nor I is true

Statements :
S<L<I=P=2E>R;L>Q

{onclusions : I.LP=2S Il oK

Statements :
G?_REE?-AiTﬂSﬁﬁﬂAﬂJ
ILR>5

Statement : - _
A-B-C=D=<EcF

Conclusions : L A2 E JE.C<F

Statements ;
G>RzE= A{Tfiﬁ D<AZ)

Conclusions : 1. J > G =G

Statements : |
S<L<I=P2E>R;L>Q
Conclusions : L. L <R ILE=Q

Directions (96-100) : Study ﬁzE following information 1o

answer the given questions.
LK. L,MN,O,P,Q, R and S are sitting around a circular

table facing the centre with equal distances between each
other (but not necessarily in the same order). Each one of
them is also related to M in some way or the other.-Only two
people sit between Q and L. M sits second to the left of Q.
Only three people sit between L and M’s sister. M’s son Sits
second to the right of M’s sister. -

Only one person sits between M’s son and S. J sifs to the
immediate right of R. R is neither the son nor the mother of
M. S is an immediate neighbour of M’s mother. Only three
people sit between M’s mother and M’s brother. M’s
daughter sits second to the left of M’s brother.

- M’s father is not an immediate neighbour of M. M“s wife

sits third to the right of K.-.
Who sits second to the ﬁght of R ?
(1) M’s bmther OOM
G)R | el

' e (4)'1{'_
(5)M8daughter e

How many people sit baﬁween K a‘nd L whan cﬂumed fmm -

theleftof L? . 7 -
(1) Six ke {2) G’ﬁé =

{3} None, (4) Twﬂ

{5) Four

Which of the fﬂliﬂwmg statemenis 15 true wzth respect s:@ the -
given mfnrmatmﬁ o L 2

(3) M sits Eﬂﬂﬂﬂd to the left of L.

‘How is K re:lated tﬂ R %
iy Sﬁﬂ*lﬂwiaw (2) Uﬁcle
(4) Bmthﬂr (5) I?aughtﬁr

(1) N
(4) Q
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